
Blade Nut, Cup, Clamp Washer, Grass Guard and Receive Washer 
*with chisel blade (Arbor size 20mm)

Petrol Brushcutter 

Model No. 
Spindle 

Size 
Market 

Receive Washer Blade Clamp Washer Blade Cup Blade Nut 

Arbor 
size (mm) 

Size 
(mm) 

Parts No. 
Size 

(mm) 
Parts No. 

Size 
(mm) 

Parts No. Parts No. 

EM2500L, EM2500U, EM2600L, EM2601U M8x1.25LH 25.4 - DA00000162 - - 46.5 DA00000170 
NUT:DA00000172 

WASHER: 
DA00000171 

EBH252L, EBH252U, EBH253L, EBH253U, 
M2650LH, EM2650UH, EM2651LH, EM2651UH, 
EM2653LH, EM2654LH 

M10x1.25LH 25.4 60 326821-5 50 346084-7 68 168526-9 264025-0 

EM2510LH, EM2511LH, EM2653LH M10x1.25LH 25.4 60 326840-1 50 346084-7 68 168526-9 264025-0 

EBH252L, EBH252U, EBH253L, EBH253U M10x1.25LH CANADA 25.4 60 
331861-0
326821-5 

49 346660-7 68 168526-9 264088-6 

EM2650LHN M10x1.25LH 

THAILAND 
TURKEY 
SOUTH 
AFRICA 

- 60 
331861-0 
326821-5 

- - - - - 

EM2650LH M10x1.25LH USA 25.4 60 
331861-0 
326821-5 

49 346660-7 68 168526-9 264088-6 

EM2650UH M10x1.25LH 
GAMBIA
SAUDI 

ARABIA 
- 60 

331861-0 
326821-5 

- - - - - 

EM2650UH M10x1.25LH USA 25.4 60 
331861-0 
326821-5 

49 346660-7 68 168526-9 264088-6 

EM2653LH M10x1.25LH CANADA 25.4 60 
331861-0 
326821-5 

49 346660-7 68 168526-9 264088-6 

EM2652LHN M10x1.25LH USA - 66 332056-8 - - - - 252236-9 

EBH341L, EBH341U, EM4350L, EM4350R, 
EM4350U, EM4351U, RBC411U, RBC412U, 
RBC413U, RBC414U 

M10x1.25LH 25.4 71 326823-1 49 346355-2 68 168526-9 264025-0 

EM4350UH M10x1.25LH GUAM 25.4 71 332114-0 49 346660-7 68 168526-9 264088-6 

EM3400L, EM3400U M10x1.25LH 25.4 - KC00000013 KC00000004 68 168526-9 
KC00000016 

264025-0 

*EBH341U, *EM4350U, *EM4351U, M10x1.25LH 20 71 332051-8 49 346355-2 68 168526-9 264025-0 
AC Brushcutter 

Model No. 
Spindle 

Size 
Market 

Receive Washer Blade Clamp Washer Blade Cup Blade Nut 

Arbor size 
(mm) 

Size 
(mm) 

Parts No. 
Size 

(mm) 
Parts No. 

Size 
(mm) 

Parts No. Parts No. 

UR2300 M10x1.25LH 25.4 - YA00000540 50 346084-7 68 168526-9 264025-0 

UR3502 M10x1.25LH - - YA00000540 - - - - - 
Multi-tool attachments 

Model No. 
Spindle 

Size 
Market 

Receive Washer Blade Clamp Washer Blade Cup Blade Nut 

Arbor size 
(mm) 

Size 
(mm) 

Parts No. 
Size 

(mm) 
Parts No. 

Size 
(mm) 

Parts No. Parts No. 

EM400MP, EM402MP M10x1.25LH 25.4 60 326821-5 50 346084-7 68 168526-9 264025-0 

EM400MP M10x1.25LH USA 25.4 60 
331861-0 
326821-5 

49 346660-7 68 168526-9 264088-6 

EM401MP M10x1.25LH 25.4 60 
331861-0 
326821-5 

50 346084-7 68 168526-9 264025-0 

EM403MP, EM404MP M10x1.25LH 25.4 64.5 144312-2 43 347105-8 68 457290-0 252236-9 

EM405MP, EM406MP M10x1.25LH - 64.5 144312-2 - - - - 252236-9 

EM408MP M10x1.25LH 25.4 64.5 140N88-3 - - - 413201-5 252236-9 

EM409MP M10x1.25LH - 64.5 140N88-3 - - - - 252236-9 
Cordless brushcutter / Cordless string trimmer 
**with Grass Guard for Receive Washer Part No. 346622-5 
*** Receive Washer with Grass Guard 

Model No. 
Spindle 

Size 
Market 

Receive Washer Blade Clamp Washer Blade Cup Blade Nut 

Arbor size 
(mm) 

Size 
(mm) 

Parts No. 
Size 

(mm) 
Parts No. 

Size 
(mm) 

Parts No. Parts No. 

DUR190L, DUR190U, DUR191L, 
DUR191U M10x1.25LH 25.4 --- ***140T23-7 50 347668-4 68 168526-9 264025-0 

DUR365U, DUR366L M10x1.25LH 25.4 
42 **326518-6 

50 346084-7 68 168526-9 264025-0 
--- ***140L84-9 

DUR368A, DUR368L, UR002G, 
UR003G 

M10x1.25LH 25.4 --- ***140L84-9 50 346084-7 68 168526-9 264025-0 

DUR369A, DUR369L, UR101C, UR201C M10x1.25LH 25.4 64.5 144312-2 43 347104-0 68 457274-8 252236-9 
Edger 

Model No. 
Spindle
Thread 

Receive Washer Blade Clamp Washer Blade Nut 

Arbor size (mm) Size (mm) Parts No. Size (mm) Parts No. Parts No. 

EE2650H, EE400MP M10x1.25LH 25.4 54 326734-0 47 326381-7 264025-0 



Cordless string trimmer 

Model No. 
Spindle 

Size 

Receive Washer 
Grass Guard 

for Receive Washer 
Model No. 

Spindle 
Size 

Receive Washer Grass Guard 
for Receive 

Washer 
Size 

(mm) 
Parts No. 

Size 
(mm) 

Parts No. 

DUR364L M8x1.25RH 44 319245-2 346857-8 DUR184L M8x1.25RH 36.5 326683-1 
144512-4 346857-8 

DUR366L M10x1.25LH 42 326518-6 346622-5 
DUR187L, DUR187U, 
DUR188L, DUR188U 

M8x1.25LH 36.5 144512-4 346857-8 

DUR369N, UR202C M10x1.25LH 65 140N88-3 DUR189 M8x1.25RH 36.5 144512-4 346857-8 

DUR192L M10x1.25LH 71 140W47-1 DUR192L 

Blade selection guide 

Brushcutter blades 
Hole Dia.: 25.4mm 
* Japanese Package

Shape Application 
Blade dia. / 
No. of teeth 

Thickness Model No. Part No. 

2-tooth blade

for tall grass and 
scrub 

230mm / 2 2.0mm 
EBH252U, EBH253U, EM2500U/L, EM2510LH, EM2511LH, EM2600U/L, EM2650LH/UH, EM2651LH/UH, 
EM2653LH, EM2654LH, EM400MP, EM401MP, EM402MP, EM403MP, EM404MP

197808-2 
D-66058 

230mm / 2 2.0mm DUR369A/L, EM2510LH, EM2511LH, EM2653LH, EM2654LH, UR101C, UR201C 197997-3 

255mm / 2 2.0mm DUR369A/L, UR101C, UR201C 198345-9 

305mm / 2 2.0mm EBH341L/U, EM4350LH/UH, EM4351UH, RBC411U, RBC412U, RBC413U, RBC414U 195624-6 

4-tooth blade

for tall grass and 
scrub 

230mm / 4 1.8mm 
DUR361U, DUR362U, EBH252U, EBH253U, EM2500U/L, EM2510LH, EM2511LH, EM2600U/L EM2650LH/UH, 
EM2651LH/UH, EM2653LH, EM2654LH, EM400MP, EM401MP, EM402MP, EM403MP, EM404MP 

B-14118

230mm / 4 1.8mm DUR365U, DUR368A/L, DUR369A/L, UR101C, UR201C, EM401MP, EM402MP 
195150-5 
D-66008 

255mm / 4 2.0mm EBH340U/R, EBH341L/U/R, EM4350UH/LH/RH, EM4351UH, RBC411U, RBC412U, RBC413U, RBC414U B-14124

255mm / 4 2.0mm DUR369A, DUR369L, EM3400U/L, UR101C, UR201C 
196895-8 
D-66014 

8-tooth blade

for thick grass and 
scrub 

230mm / 8 1.8mm 
DUR361U, DUR362U, EBH252U, EBH253U, EM2500U/L, EM2510LH, EM2511LH, EM2600U/L, EM2650LH/UH, 
EM2651LH/UH, EM2653LH, EM2654LH, EM400MP, EM401MP, EM402MP, EM403MP, EM404MP 

B-14130

255mm / 8 2.0mm 
EBH340U/R, EBH341L/U/R, EM3400U/L, EM4350UH/LH/RH, EM4351UH, RBC411U, RBC412U, 
RBC413U, RBC414U 

B-14146

3-tooth blade

for tall, thick grass, 
scrub and tangled 

undergrowth

230mm / 3 3.0mm 
DUR368A, DUR368L, DUR369A, DUR369L, EBH252U, EBH253U, EM2500U/L, EM2510LH, EM2511LH, 
EM2600U/L, EM2650LH/UH, EM2651LH/UH, EM2653LH, EM2654LH, UR101C, UR201C, EM400MP, 
EM401MP, EM402MP, EM403MP, EM404MP 

195298-3 
D-66020 

255mm / 3 3.0mm 
EBH340U/R, EBH341L/U/R, EM3400U/L, EM4350UH/LH/RH, EM4351UH 
RBC411U, RBC412U, RBC413U, RBC414U, UR101C, UR201C 

195299-1 
D-66036 

305mm / 3 3.0mm EBH341L/U, EM4350LH/UH, EM4351UH, RBC411U, RBC412U, RBC413U, RBC414U 
195300-2 
D-66042 

Shredder blade 

for thick grass, scrub 
and vines 270mm / 2 3.9mm UR012G 729127-4 



Shape Application 
Blade dia. / 
No. of teeth 

Thickness Model No. Part No. 

80-tooth Saw blade

for bushes and thin 
tree trunks 

Not available in 
some countries due 
to local regulation 

230mm / 80 1.8mm 
DUR361U, DUR362U, EBH252U, EBH253U, EM2500U/L, EM2510LH, EM2511LH, EM2600U/L EM2650LH/UH, 
EM2651LH/UH, EM2653LH, EM2654LH, EM400MP, EM401MP, EM402MP, EM403MP, EM404MP 

B-14152

255mm / 80 2.0mm 
EBH340U/R, EBH341L/U/R, EM3400U/L, EM4350UH/LH/RH, EM4351UH, RBC411U, RBC412U, 
RBC413U, RBC414U 

B-14168

Chisel blade 

For brush and thin 
tree trunks and 

new growth. 
Not available in 

some countries due 
to local regulation 

200mm / 22 
Hole Dia.: 20mm 

1.6mm EM4351UH, EM4350UH, EBH341U 196242-3 

225mm / 24 
Hole Dia.: 20mm 

1.8mm EM4351UH, EM4350UH 196243-1 

225mm / 24 
Hole Dia.: 25.4mm 

1.8mm UR012G 729134-7 

TCT Saw blade 

for gnarled bushes 
and thin tree trunks 

Not available in 
some countries due 
to local regulation 

230mm / 36 1.25mm 
EBH252U, EBH253U, EBH340U/R, EBH341U/L, EBH341R, EM2500U/L, EM2510LH, EM2511LH, 
EM2600U/L, EM2650L/U, EM2651L/U, EM2653LH, EM2654LH, EM4340L 

B-50697
*A-56926
D-65981 

230mm / 36 1.25mm DUR369A/L, UR101C, UR201C 198023-1 

230mm / 32 1.25mm DUR369A/L, UR101C, UR201C 199248-0 

250mm / 40 1.25mm 
EBH340U/R, EBH341L/U/R, EM3400U/L, EM4350UH/LH/RH, EM4351UH, RBC411U, RBC412U, 
RBC413U, RBC414U 

*A-56932
D-65997 

250mm / 40 1.25mm DUR369A/L, UR101C, UR201C 198024-9 

250mm / 36 1.25mm DUR369A/L, UR101C, UR201C 199652-3 

*Special flunge(Dia 20mm) Part No.332051-8 Including Chisel blade guard set 196480-7,196481-5  

Rotary scissors blade

230mm - EM407MP 
A : SY00146013 

B : SY00146014 

Edger blade 
Blade dia. / No. of teeth Thickness Model No. Part No. 

203mm / 2 2.5mm EE2650H, EE400MP 196745-7 

String trimmer head 
(for grass, light weeds) * with adapter (Poly bag with header) 

Shape Ref. Size 
Thread 

size 
Model No. 

Cord/ 
Line 

Package Part No. 

Quick loading Bump & Feed 

UN-74L 4.4'' 
M10x1.25L

H 

DUR190L, DUR366L, DUR368A, DUR368L, DUR369A , 
DUR369L, DUR369N, EBH252U/L, EBH253U/L, 
EBH341U, EM3400L, EM2510LH, EM2511LH, 
EM2650UH/LH, EM2651UH/LH, EM2653LH, 
EM2654LH, UR002G, UR003G, UR101C, UR201C, 
UR202C, EM400MP, EM401MP, EM403MP, EM404MP, 
EM405MP, EM406MP 

2.4mm x 
3.6m 

- 196324-1 

UN-72L 5'' M10x1.25LH 
DUR369A, DUR369L, DUR369N, EM4350UH/RH/LH, 
EM4351UH, UR101C, UR201C, UR202C 

2.4mm x 
6m 

Poly bag 
with header 

198266-5 

Quick loading B



Shape Ref. Size 
Thread 

size 
Model No. 

Cord/ 
Line 

Package Part No. 

Quick loading Bump & Feed 
96-M8L 

4" 

DUR142L, DUR142U, DUR143U, DUR182L, DUR182U, 
DUR183L, DUR183U, DUR187L, DUR187U, DUR188L, 
DUR188U 

2.0mm x 
4m 

Carton 
box 

191D91-7 

96-M8R M8x1.25RH DUR189, DUR364 
2.0mm x 

4m 
Carton box 191D92-5 

96-M10L
M10x1.25L

DUR190L, DUR190U, DUR191L, DUR191U, DUR192L, 
UR201C, UR202C, DUR365, DUR366, DUR368A, 
DUR368L, DUR369A, DUR369L, DUR369N, EM408MP, 
EM409MP, UR001G, UR002G, UR003G, UR004G, 
UR101C 

2.0mm x 
4m 

Carton box 191D89-4 

DUR369A, DUR369L, DUR369N, EBH252L, EBH252U, 
EBH253L, EBH253U, EM2510L, EM2511L, EM2650U, 
EM2651L, EM2651U, EM2653L, EM2654L, EM400MP, 
EM401MP, EM403MP, EM404MP, EM405MP, 
EM406MP, UR101C, UR201C, UR202C 

2.4mm x 
3m 

Carton 
box 

191D90-9 

121-M10L 5" 
EBH341L, EBH341U, EM4350L, EM4350R, EM4350U, 
EM4351U, MS335C , RBC411 , RBC412U, RBC413U, 
RBC414U 

2.4mm x 
4m 

Carton box 191D93-3 

Bump & Feed

76-M8R 3'' M8x1.25RH UR100D 
1.65mm x 

8m 
Poly bag 

with header 
198853-0 

EU:198854-8 

95-M8R 4'' M8x1.25RH DUR189 
2.0mm x 

3m 
Poly bag 

with header 
198972-2 

EU:198971-4 

95-M8L 4'' M8x1.25LH DUR187U/L, DUR188U/L, EM2500U/L, EM2600U/L 
2.0mm x 

3m 
Poly bag 

with header 
198386-5 

EU:198385-7 

95-M10L 4'' M10x1.25LH 

DUR190L, DUR190U, DUR191L, DUR191U, DUR192L, 
UR366L, DUR368A DUR368L, DUR369A , DUR369L, 
DUR369N, EBH252U/L, EBH253U/L, EM2510LH, EM2511LH, 
EM2650UH/LH, EM2651UH/LH, EM2653LH, EM2654LH, 
UR002G, UR003G, UR101C, UR201C, UR202C 
EM400MP, EM401MP, EM403MP, EM404MP, EM405MP, 
EM406MP, EM408MP, EM409MP

2.0mm x 
3m 

Poly bag 
with header 

198892-0 
EU:198893-8 

2.4mm x 
3m 

Poly bag 
with header 

197804-0
EU:197993-1 

Bump & Feed 
B & F 

ECO 4R 

4'' 
Low 

profile 
M8x1.25RH DUR189, DUR364L 

2.0mm x 
3m 

Poly bag 
with 

header
197297-1 

B & F 4R 4'' M8x1.25RH ER2550LH, ER2650LH, ER2600L, ER400MP 
2.4mm x 

3m 
Blister pack A-89137

B & F 
 ECO 4L 

4'' Low 
profile M8x1.25LH DUR187L/U DUR188L/U 

2.0mm x 
3m 

Poly bag 
with header 

196589-5 

B & F 
ECO 4L 

4'' Low 
profile M10x1.25LH 

DUR192L, DUR366L, DUR368A, DUR368L, DUR369A , 
DUR369L, DUR369N, UR002G, UR003G, UR101C, UR201C, 
UR202C, EM408MP, EM409MP 

2.0mm x 
3m 

Poly bag 
with header 

197296-3 

B & F 
 ECO 5

5'' M10x1.25LH EM3400U/L, EBH341U 
3.0mm x 

2.5m 
Poly bag 

with header 
161342-8 

B & F 
Z5L 

5'' M10x1.25LH 

EBH252U/L, EBH253U/L, EM2510LH, EM2511LH, 
EM2650UH/LH, EM2651UH/LH, EM2653L, EM2654L, 
EM3400U/L, EBH340U, EBH341U/L/R, EM4350UH/LH/RH, 
EM4351UH, RBC411U, RBC412U, RBC413U, RBC414U, 
EM400MP,  EM401MP,  EM403MP, EM404MP, EM405MP, 
EM406MP 

2.4mm x 
3m 

Blister pack B-05131

B & F 
ECO 6 

6'' M10x1.25LH 
EBH341U/L/R, EM4350UH/LH/RH, EM4351UH, RBC411U, 
RBC412U, RBC413U, RBC414U 

3.0mm x 
3m 

Carton box 197030-1 

Automatic feed and 
Bump & Feed 

Line will be feeded 
about 3cm, in either 
one of the following 
cases 

-Head rotaition are 
reached at 8,500rpm.

-Bottom of the head
is bumped on the 
ground when it is 
spinning. 

Ultra Auto 4R 4'' M8x1.25RH ER2550L, ER2650L, ER2600L, ER400MP 
2.4mm x 

3m 
Carton box B-03006

Ultra Auto 4L 

4'' 
M8&10x1.25

LH 

DUR187U/L, DU188U/L, EM2500U/L, EM2600U/L, 
EBH252U/L, EBH253U/L, EM2510LH, EM2511LH, 
EM2650UH/LH, EM2651UH/LH, EM2653LH, EM2654LH, 
EM400MP, EM401MP, EM403MP, EM404MP, EM405MP, 
EM406MP 

2.4mm x 
3m 

Carton box *B-02945

4'' M10x1.25LH 

EBH252U/L, EBH253U/L, EM2510LH, EM2511LH, 
EM2650UH/LH, EM2651UH/LH, EM2653LH, EM2654LH, 
EM400MP, EM401MP, EM403MP, EM404MP, EM405MP, 
EM406MP 

2.4mm x 
3m 

Blister pack B-05125

Ultra Auto 6L 6'' M10x1.25LH 
EBH340R, EBH341U/L/R, EM4350UH/LH/RH, EM4351UH, 
RBC411U, RBC412U, RBC413U, RBC414U 

3.0mm x 
2m 

Blister pack *A-81658

Eyelet 2pcs/set for Bump & Feed 4L/4R/Z5L, Ultra Auto 4R/4L/6L Part No. A-15992 

Manual 

5'' _ 

EBH252U/L, BH253U/L, EM2510LH, EM2511LH, 
EM2650UH/LH, EM2651UH/LH, EM2653L, EM2654L, 
EM3400U/L, EBH340U/R, EBH341U/L/R, EM4350UH/LH/RH, 
EM4351UH, RBC411U, RBC412U, RBC413U, RBC414U, 
EM400MP, EM401MP, EM403MP, EM404MP, EM405MP, 
EM406MP 

2.4mm x 
0.75m x 

2 

Carton 
box 

B-02951

M8x1.25L

M10x1.25L



Standard Nylon cord 
Color / 
Shape 

Layer dia. (mm) length(m) Part No. 

Single 1.3 15 E-02727 

Single 1.6 15 E-02733 

Single 2 15 E-02705 

Single 2 126 E-02711 

Single 2.4 15 E-02749 

Single 2.4 87 E-02761 

Single 2.4 262 E-02783 

Single 2.4 15 E-02808 

Single 2.4 69 E-02814 

Single 2.4 206 E-02820 

Double-layer Nylon cord 
Increased durability up to 130%* thanks to Flexible core coated with Imapct & 
abrasion resistant skin 
*compared to standard nylon cord

Color / 
Shape 

Layer dia. (mm) length(m) Part No. 

Double 3 15 E-02836 

Double 3 56 E-02842 

Double 3 168 E-02858 

Double 3 15 E-02870 

Double 3 44 E-02886 

Double 3 132 E-02892 

Other Nylon cord (round, gray) 

Size Part No. 

1.65mmx15m DA00000003 

2.4mmx5m B-01971

3.0mmx4m B-07375

Four-leaf Spiral Nylon cord 

Color / Shape Layer dia. (mm) length(m) Part No. 

Single 1.65 15 E-01731 

Single 1.65 30 E-01747 

Single 1.65 445 E-01753 

Single 2 15 E-01769 

Single 2 30 E-01775 

Single 2 310 E-01781 

Single 2.4 15 E-01797 

Single 2.4 30 E-01806 

Single 2.4 225 E-01812 

Single 2.7 15 E-01828 

Single 2.7 30 E-01834 

Single 2.7 180 E-01840 



Protection guard 
Shape Type Model No. Description Part No. 

Protector Universal DUR369A , DUR369L, UR101C, UR201C With protector extention 191B54-1 

EM401MP Without protector extention 451566-7 

EM2500U/L, EM2600U/L Without protector extention DA00000525 

EBH252L/U, EBH253L/U,, EM2511LH, EM2650LH/UH, EM2651LH/UH, EM2653LH, 
EM2654LH, EM400MP 

Without protector extention 452260-4 

EM403MP, EM404MP,UR101C, UR201C, DUR369A, DUR369L, With protector extention 
198888-1 

198889-9(EU)
EM403MP, EM404MP,UR101C, UR201C, DUR369A, DUR369L, Without protector extention 457271-4 

EM408MP Without protector extention 412969-0 

EBH340U, EM3400U/L, RBC411U Without protector extention 451878-8 

EBH341U/L, EM4350UH/LH/RH, EM4351UH, RBC411U, RBC412U, RBC413U, RBC414U With protector clamp 
Without protector extention 

196052-8 

EBH341U/L, EM4350UH/LH/RH, EM4351UH, RBC411U, RBC412U, RBC413U, RBC414U Without protector extention 452259-9 

Extension 
for Trimmer head 

Universal 
EM401MP 

Toolless / Without cord/line 
cutter 

140583-9 

EBH252L/U, EBH253L/U, EM2650LH/UH, EM2651LH/UH, EM2511LH, EM2653LH, 
EM2654LH, EBH341U/L, EM4350UH/LH/RH, EM4351UH, RBC411U, RBC412U, 
RBC413U, RBC414U, EM400MP 

Toolless / With cord/line cutter 135398-7 

EM403MP, EM404MP,UR101C, UR201C, DUR369A, DUR369L, 
Toolless / Without cord/line 

cutter 
144316-4 

EM408MP 
Toolless / Without cord/line 

cutter 
140X35-4 

EBH340U, EM3400U/L, RBC411U Toolless / WIth cord/line cutter 140424-9 

EM2500U/L, EM2600U/L Without cord/line cutter DA00000526 

for Cutting blade Exclusive EM4350RH, RBC411U, RBC412U, RBC413U, RBC414U With protector clamp 196051-0 

EM4350RH, RBC411U, RBC412U, RBC413U, RBC414U 453874-2 

EM402MP With protector clamp 125478-7 

EBH340R XNR0000302 

EBH341R XNR0000501 

for Trimmer head Exclusive UR100D With cord/line cutter 135950-1 

DUR189 Without cord/line cutter 456651-1 

DUR187L, DUR187U, DUR188L Without cord/line cutter 457324-9  

DUR192L Without cord/line cutter 412580-8 

DUR190L, DUR190U, DUR191L, DUR191U Without cord/line cutter 412392-9 

DUR364L Without cord/line cutter 455622-5 

DUR366L,UR002G, UR003G With protector clamp 197295-5 

DUR369A, DUR369L, DUR369N 
UR101C, UR201C, UR202C 

Narrow type 191B55-9 

ER2550LH, ER2650LH ER400MP 195803-6 

ER2600L DA00000630 

EM2650LH EM2652LHN Narrow type 196117-6 

EM2511LH, EM2653LH, EM2654LH 
197806-6 

EU:197995-7

EM405MP, EM406MP, UR101C, UR201C, UR202C, DUR369A, DUR369L, DUR369N 
Narrow type / 

Without cord/line cutter 
457273-0 

EM409MP 
Narrow type / 

Without cord/line cutter 
412968-2 

EBH341R XNR0000342 

EBH341U/L, EM4350UH/LH/RH, EM4351U RBC411U, RBC412U, RBC413U, RBC414U 197756-5 

Conversion kit for Cutting 
blade (Protector for 

Cutting blade, Protector 
clamp and blade 

clamping washer & nut. ) 

DUR365U, DUR368A, DUR368L, 197294-7 

for Chisel blade for 200mm 
blade 

EM4351UH, EM4350UH, EBH341U
With receive washer Part No. 

332051-8 
196480-7 

for 225mm 
blade 

EM4351UH, EM4350UH 
With receive washer Part No. 

332051-8 
196481-5 

for Rotary 
scissors 

EM407MP Without protector clamp 412999-1 



Plastic blade set 

Model No. 
Plastic blade set Replacement plastic blade 

Arbore size Cutting width Part No. per pkg. Part No. 

UR100D M8x1.25RH 230mm 198848-3 5 
198850-6 

EU:198851-4 

DUR187L, DUR187U, 
DUR188L, DUR190L, 
DUR190U, DUR191L,
DUR191U, DUR188U 
DUR189, DUR364L, 
DUR366L, DUR368A, 
DUR368L, DUR369A, 
DUR369L, DUR369N, 
UR001G, UR002G, UR003G, 
UR004G, UR101C, UR201C, 
UR202C EM403MP, 
EM404MP, EM405MP, 
EM406MP 

M8x1.25RH 
M8x1.25LH 

M10x1.25LH 
255mm 198383-1 12 198426-9 

DUR369A, DUR369L, 
DUR369N, UR101C, 
UR201C, UR202C 

M10x1.25LH 305mm 199868-0 12 199870-3 

Spool assembly 

Model No. Part No. 

UR180D, DUR181 195858-1 

Shoulder strap assembly 
Comfort: Part No.122906-3 
Single: Part No.125516-5 
*Poly bag with header

Type Model No. Part No. 
Single DUR192L,  DUX18, UR002G, UR003G, UR004G, UX01G 125508-0 

DUN500W DUN501W, DUR181, DUR184L, DUR187L, DUR188L, DUR189, DUR190L, 
DUR191L, DUR364L, DUR368A,  DUR368L, UR100D, UR180D, DUR366L, DUX60L, 
EBH252L, EBH253L, EBH341L, EM2510LH, EM2511LH, EM2650LH, EM2651LH, EM2653LH, 
EM2654LH, EM3400L, EN4950H, EN4951SH, EY2650H ,EX2650LH, RBC411U, RBC412U 

125516-5 

DUR187U, DUR188U, DUR190L, DUR190U, DUR191U, DUR368A, DUR368L, DUR369L, 
RBC413U, RBC414U 

125520-4 

RBC411U 123633-5 

UR101C, UR201C 123422-8 

 RBC411U, RBC412U, EM3400U 125802-4 

EM4350LH 126187-1 

Comfort

DUR369A, EBH252U, EBH253U, EBH341U, EM2650UH, EM2651UH,  EM4350UH, 
RBC411U, RBC412U, RBC413U, RBC414U, UR002G

122906-3 

DUR369A, EBH252U, EBH253U, EBH341U, EM2650UH, EM2651UH, EM4350UH, EM4351UH *199378-7

X5

x12 



String trimmer harness for PDC01 & PDC1200 

item Part No. 

A 191E43-4 

B 197243-4 

Attachments for loop handle brushcutter 

Do not use following attachiments with DUR369L, DUR369N, UR201C & UR202C. 

Shape Model No. Part No. 

Hedge trimmer
Blade length: 490mm 

EM2650LH, 
EM2651LH, 
EM2653LH, 
EN2654LH

198579-4 

Pole saw 
Bar length: 25cm (10'') 
Saw chain: 91VXL-39links 
Motor Mount:A218 

EM2650LH, 
EM2651LH, 
EM2653LH, 
EN2654LH 

199914-9
199915-7 
199916-5 
199917-3 
199918-1 

Cultivator EBH251L, 
EM2510LH, 

B-04818

Coffee harvester EM2651LH B-80210

Coffee harvester EJ2650LH, EM2650L 197666-6

Attachments for back pack brushcutter 
Coffee harvester EBH340R, EBH341R B-80226

Coffee harvester EBH340R, EBH341R 197163-2 

Multi-tool attachments 

Shape Model No. Part No. 

Brushcutter 

Cutting width: 420mm 

Spindle size: 

M10 x 1.25LH 

EX2650LH EM400MP 

String trimmer 

Cutting width: 410mm 

Spindle size: 

M8 x 1.25RH 

EX2650LH ER400MP 

Brushcutter 

Cutting width: 300mm 

Spindle size: 

M10 x 1.25LH 

DUX60, UX01G EM401MP 

Brushcutter 

Blade size: 230mm 

Spindle size: 

M10 x 1.25LH 

DUX60, EX2650LH EM402MP 

Brushcutter 

Cutting width: 450mm 

Spindle size: 

M10 x 1.25LH 

DUX60, EX2650LH, UX01G EM403MP 

DUX60 with CE mark 

UX01G with CE mark 
EM404MP 

Brushcutter 

Cutting width: 450mm 

Spindle size: 

M10 x 1.25LH 

DUX60, EX2650LH, UX01G EM405MP 

DUX60 with CE mark 

UX01G with CE mark 
EM406MP 

Brushcutter 

Cutting width: 230mm 

DUX60, EX2650LH EM407MP 

Brushcutter 

Cutting width: 300mm 

Spindle size: 

M10 x 1.25LH 

DUX18, DUX60, EX2650LH, 
UX01G EM408MP 

Brushcutter 

Cutting width: 300mm 
Spindle size:   

M10 x 1.25LH 

DUX18, DUX60, EX2650LH, 
UX01G 

EM409MP 



Blower 
*Except for European, Austrarian, Newzealand, Chinese & Korean markets .

DUX18, DUX60, 
EX2650LH, UX01G 

UB400MP 

Blower 

DUX18, DUX60, 
EX2650LH, UX01G 

UB401MP 

Pole saw 
Bar length: 25cm (10'')

Saw chain: 91VXL-39links 
Motor Mount:A218 

DUX18, DUX60, 
EX2650LH, UX01G 

EY401MP 

Pole saw 

Bar length: 25cm (10'') 

Saw chain: 90PX-40links 

Motor Mount:A041 

DUX18, DUX60, 
EX2650LH, UX01G 

EY402MP 

Pole saw 

Saw chain: 90PX-46links or

91PX-46links 

Motor Mount:A041 

DUX18, DUX60, 
EX2650LH, UX01G 

EY403MP 

Pole hedge trimmer 
Shape Model No. Part No. 

Angle adjustment 

DUX18, DUX60, 
EX2650LH, UX01G 

EN401MP 

Straight 

DUX18, DUX60, 
EX2650LH, UX01G 

EN410MP 

Ground trimmer

DUX18, DUX60, 
EX2650LH, UX01G 

EN420MP 

Cultivator 
Cultivating width: 160mm 

DUX18, DUX60, 
EX2650LH, UX01G 

KR400MP 

Shape Model No. Part No. 

Cultivator 

Cultivating width: 220mm 

* Rotor LR set

P/N 199204-0 

DUX18, DUX60, 
EX2650LH, UX01G 

KR401MP 

Power brush 

* Brush wheel (1pc)

P/N XNR0000548 

DUX18, DUX60, 
EX2650LH, UX01G 

BR400MP 

Power sweep 

* Sweeper wheel (1pc)

P/N XNR0000549 

DUX18, DUX60, 
EX2650LH, UX01G 

SW400MP 

Coffee harvester 

DUX18, DUX60, 
EX2650LH, UX01G 

EJ400MP 

Edger attachment 

DUX18, DUX60, 
EX2650LH, UX01G 

EE400MP 

Shaft extension attachment 

S For Pole saw, Pole hedge trimmer and Coffee harvester 

DUX18, DUX60, 
EX2650LH, UX01G 

LE400MP



Accessories
Saw Chain and Guide Bar

Guide Bar Type Guide Bar Maintenance

Sharpening Saw Chain

Sprocket Nose Bars Chain Tension

File Bar Edge

Clean Guide Bar

Hard Nose Bars(Solid Bar)

Carving Bars

Guide bar's length is 
represented by the cutting 
length,which is different from 
its total length.

The length of saw chain is 
determined by counting the 
number of drive links in the saw 
chain.

Depth gauge means the gap between the top of 
the depth gauge and the top of the cutter and 
determines how deep the cutting teeth gets into 
the wood. 

Chain Gauge is the drive link's thickness where it fits 
into the guide bar groove, matching the guide bar 
gauge. The gauge of the chain and the gauge of the 
bar must match.

Sprocket nose bars have a rotating sprocket mounted on at the tip of the bar. As the 
chain moves along the bar,the sprocket teeth carry the chain around the tip 
smoothly with less friction.

From time to time the saw chain tension 
before use. The saw chain may become 
loose after many hours of use.

File bar edge with a flat file to keep 90°once 
a week. 

Clean out the chips and  sawdust every 
time when  you sharpen or replace the saw 
chain 

Bar Nose Grease
Lubricate a whole sprocket regularly to make 
sure that the saw chain can rotate with less 
friction.

High wear resistant stellite is welded onto the tip. Hard nose bars are made for 
difficult situation, including fire-damaged forests,deserts,or sandy environments.

Carving bars are made of high-quality steel and high wear resistant stellite is welded 
onto the tip. The small nose radius is designed for precision cutting. The carving bars 
are made for especially pruning and carving.

Chain pitch is the size of the chain,and is defined as 
the distance between any three consecutive rivets 
divided by two. Pitch is important because the drive 
sprocket must be the same pitch as the chain.

Guide Bar Length

Chain PitchDepth GaugeB

Depth GaugeB

Cutter TypeF

C Drive LinkD GaugeE

AA

Guide Bar LengthA

Chain PitchC

Drive LinkD

GaugeE

Cutter TypeF

End View

Abbreviation SC

SEMI
CHISEL

MC

MICRO
CHISEL

CC

CHAMFER
CHISEL

FC

FULL 
CHISEL

Guide Bar Length

=1/2

.043” 
(1.1mm)

.050” 
(1.3mm)

.058” 
(1.5mm)

1 2 3 4 5 6 7 81415 13 12 11 10

191834
35

36
37

38
39 40

17

16

20 21 22 23 24
3233 31 30 29 28 27 26

25

9

The file can be guided more easily if a file holder 
is employed. The file holder has markings for 
the correct sharpening angle of 30° (align the 
markings parallel to the saw chain) and limits 
the depth of penetration (to 4/5 of the file 
diameter).

Depth gauge jointer

Flat file

After sharpening the chain, check the height of the 
depth gauge using the chain gauge tool.

Depth gauge jointer

Flat file

Saw chain

Round File and File holder

File holder

File

30

Saw chain

File 

1/5

90°

Grease

184

D
ril

lin
g

 (W
oo

d/
M

et
al

)
D

ril
lin

g
 (M

as
on

ry
)

D
ril

l a
nd

 
Sc

re
w

 B
it 

Se
ts

Cu
tt

in
g

Jig
sa

w
 / 

Re
ci

pr
os

aw
in

g
Bo

nd
ed

 A
br

as
iv

e
Fa

st
en

in
g

Br
us

hi
ng

Co
at

ed
 A

br
as

iv
e

M
ul

ti 
To

ol
D

ia
m

on
d

Pl
an

in
g 

/ 
Ro

ut
er

in
g

O
PE

M
isc

el
la

ne
ou

s



Chain Saws  
Guide Bar / Saw Chain / Guide Bar Cover / Drive sprocket 
Cutter type: CC: Chamfer chisel, SC: Semi chisel, MC : Micro chisel, FC: Full chisel 
* Pole saw attachment (196315-2)

Model No. 

Guide Bar Saw Chain 
Bar 

Cover 
Drive sprocket 

Ba
r l

en
gt

h 

M
ot

or
 

M
ou

nt
 

Ty
pe

D
ri

ve
 

to
ot

h 

Pa
rt

 N
o.

 

N
o.

 o
f d

ri
ve

 
lin

ks
 

G
au

ge
 

Pi
tc

h 

Ty
pe

 
O

RE
G

O
N

 / 
D

O
LM

A
R 

Cu
tt

er
 ty

pe
 

Pa
rt

 N
o.

 
Ca

rt
on

 

Pa
rt

 N
o.

 

Ty
pe

 

Pa
rt

 N
o.

 

Pole Saws 
EY2650H, 
EY401MP199914-9*
199915-7* 199916-5* 
199917-3* 199918-1* 

25cm/10'' A218 Sprocket 
nose bar 7 191G11-9 39 1.3mm/ .050'' 3/8''L

P 
91VXL / 

196 SC 191H20-4 452093-7 
458501-6 

Sprocket3/
8''LP XTM0000014 

EY402MP, EY403MP, 
DUA250, DUA251, 
DUA300, DUA301 

25cm/10'' A041

Sprocket 
nose bar 

7 191G14-3 40 
1.1mm/ .043'' 

3/8'' 
LP 

90PX / 
291 CC 

191H00-0 458501-6 

Sprocket 
3/8''LP 226992-7 

30cm/12'' A041 7 191G15-1 46 191H01-8 419288-5 

25cm/10'' A041 7 191G22-4 40 
1.3mm/ .050'' 91PX / 

492 CC 
191H08-4 458501-6 

30cm/12'' A041 7 191G23-2 46 191H10-7 419288-5 

Petrol Chain Saws 

EA3110T 
25cm/10'' A041 Sprocket 

nose bar 

7 191G22-4 40 
1.3mm/ .050'' 3/8'' 

LP 
91PX / 492 CC 

191H08-4 452093-7 Clutch drum 
MR00286238 

30cm/12'' A041 7 MR00288413 46 191H10-7 419561-3 3/8''LP 

EA3200S, EA3201S, 
EA3202S, EA3203S, 
EA3500S, EA3501S, 
EA3502S, EA3503S 

30cm/12'' A041 
Sprocket 
nose bar 

7 191G15-1 46 

1.1mm/ .043'' 3/8'' 
LP 90PX / 291 CC 

191H01-8 419559-0 

Clutch drum 
3/8''LP 140484-1 

35cm/14'' A041 7 191G16-9 52 191H02-6 419560-5 

40cm/16'' A041 7 191G17-7 56 191H03-4 419560-5 

30cm/12'' A041 
Sprocket 
nose bar 

7 191G23-2 46 

1.3mm/ .050'' 3/8'' 
LP 91PX / 492 CC 

191H10-7 419559-0 

35cm/14'' A041 7 191G24-0 52 191H11-5 419560-5 

40cm/16'' A041 7 191G25-8 56 191H12-3 419560-5 

EA3600F, EA3601F 
35cm/14'' A041 Sprocket 

nose bar 

7 191G24-0 52 
1.3mm/ .050'' 3/8'' 

LP 91PX / 492 CC 
191H11-5 419559-0 Clutch drum 

3/8''LP 165725-4 
40cm/16'' A041 7 191G25-8 56 191H12-3 419560-5 

EA4300F, EA4301F 

35cm/14'' A041 
Sprocket 
nose bar 

7 191G24-0 52 

1.3mm/ .050'' 3/8'' 
LP 91PX / 492 CC 

191H11-5 419560-5 
Clutch drum 

3/8''LP 143339-9 40cm/16'' A041 7 191G25-8 56 191H12-3 419560-5 

45cm/16'' A041 7 191G26-6 62 191H13-1 419560-5 

33cm/13'' K041 

Narrow 
Karf

10 191G38-9 56 

1.3mm/ .050'' .325'' MC 

191H22-0 419559-0 
Clutch drum 

.325'' 158927-9 38cm/15'' K041 10 191G39-7 64 191H23-8 419560-5 

45cm/18'' K041 10 191G40-2 72 191H24-6 419560-5 

EA5000P, EA5001P 

33cm/13'' A095 High 
durability 
Sprocket 
nose bar 

10 191G44-4 56 

1.5mm/ .058'' .325'' 21BPX / 
086 MC 

191H28-8 419559-0 

Rim sprocket 
.325'' SM7-7 181224040 

38cm/15'' A095 10 191G45-2 64 191H29-6 419560-5 

45cm/18'' K095 10 191G46-0 72 191H30-1 952020650 

38cm/15'' A095 

High 
durability
Sprocket 
nose bar 

10 191G45-2 64 
1.5mm/ .058'' .325'' 21LPX / 

686 FC 
191H35-1 419560-5 

45cm/18'' K095 10 191G46-0 72 191H36-9 952020650 

45cm/18'' K095 11 191G49-4 64 1.3mm/ .050'' 3/8” - - - 952020640 

Rim sprocket 
3/8'' SM7-7 026224010 

38cm/15'' K095 11 191G50-9 56 

1.5mm/ .058'' 3/8'' 73DPX / 
093 SC 

191H42-4 419560-5 

45cm/18'' K095 11 191G51-7 64 191H43-2 952020640 

50cm/20'' K095 11 191G52-5 72 191H44-0 952020650 

38cm/15'' K095 High 
durability 
Sprocket 
nose bar

11 191G50-9 56 

1.5mm/ .058'' 3/8'' 73LPX / 
099 

FC 

191H48-2 419560-5 

45cm/18'' K095 11 191G51-7 64 191H50-5 952020640 

50cm/20'' K095 11 191G52-5 72 191H52-1 952020650 

EA5600F 

38cm/15'' A095 

High 
durability 
Sprocket 
nose bar 

10 191G45-2 64 
1.5mm/ .058'' .325'' 21BPX / 

086 MC 
191H29-6 419560-5 

Rim sprocket 
.325'' SM7-7 181224040 

45cm/18'' K095 10 191G46-0 72 191H30-1 952020650 

38cm/15'' A095 10 191G45-2 64 
1.5mm/ .058'' .325'' 21LPX / 

686 FC 
191H35-1 419560-5 

45cm/18'' K095 10 191G46-0 72 191H36-9 952020650 

45cm/18'' K095 11 191G49-4 64 1.3mm/ .050'' 3/8” - - - 952020640 

Rim sprocket 
3/8'' SM7-7 026224010 

38cm/15'' K095 High 
durability 
Sprocket 
nose bar 

11 191G50-9 56 

1.5mm/ .058'' 3/8'' 73DPX / 
093 SC 

191H42-4 419560-5 

45cm/18'' K095 11 191G51-7 64 191H43-2 952020640 

50cm/20'' K095 11 191G52-5 72 191H44-0 952020650 

38cm/15'' K095 High 
durability 
Sprocket 
nose bar 

11 191G50-9 56 

 1.5mm/ .058'' 3/8'' 73LPX / 
099 FC 

191H48-2 419560-5 

45cm/18'' K095 11 191G51-7 64 191H50-5 952020640 

50cm/20'' K095 11 191G52-5 72 191H52-1 952020650 

Sprocket 
nose bar 

95VPX 
 / 484 

Narrow 
Karf



Model No. 

Guide Bar Saw Chain 
Bar 

Cover 
Drive sprocket 

Ba
r l

en
gt

h 

M
ot

or
 

M
ou

nt
 

Ty
pe

D
ri

ve
 

to
ot

h 

Pa
rt

 N
o.

 

N
o.

 o
f d

ri
ve

 
lin

ks
 

G
au

ge
 

Pi
tc

h 

Ty
pe

 
O

RE
G

O
N

 / 
D

O
LM

A
R 

Cu
tt

er
 ty

pe
 

Pa
rt

 N
o.

 
Ca

rt
on

 

Pa
rt

 N
o.

 

Ty
pe

 

Pa
rt

 N
o.

 

EA6100P, EA6101P 

38cm/15'' A095 High 
durability 
Sprocket 
nose bar

10 191G45-2 64 
1.5mm/ .058'' .325'' 21LPX / 

686 FC 
191H29-6 419560-5 

Rim sprocket 
.325'' SM7-7 181224040 

45cm/18'' K095 10 191G46-0 72 191H30-1 952020650 

38cm/15'' K095 High 
durability
Sprocket 
nose barr 

11 191G50-9 56 

1.5mm/ .058'' 3/8'' 73LPX / 
099 FC 

191H48-2 419560-5 

Rim sprocket 
3/8'' SM7-7 026224010 

45cm/18'' K095 11 191G51-7 64 191H50-5 952020650 
50cm/20'' K095 11 191G52-5 72 191H52-1 419560-5 
45cm/18'' K095 Solid bar with 

replaceable 
tip 

11 191G56-7 64 191H50-5 952020640 
50cm/20'' K095 11 191G57-5 72 191H52-1 952020650 
60cm/24'' K095 11 191G58-3 84 191H54-7 952020650 

EA7300P, 
EA7301P, 
EA7900P, 
EA7901P 

35cm/14'' D009 

High 
durability 
Sprocket 
nose bar 

11 445035655 56 

1.5mm/ .058'' 3/8'' 73LPX / 
099 FC 

191H48-2 952020640 

Rim sprocket 
3/8'' SD7-7 119224070 

38cm/15'' D009 11 445038655 60 191H49-0 952020640 
43cm/17'' D009 11 445043655 64 191H50-5 952020640 
45cm/18'' D009 11 445045655 68 191H51-3 952020650 
50cm/20'' D009 11 445050655 72 191H52-1 952020650 
60cm/24'' D009 11 445060655 84 191H54-7 952020660 
45cm/18'' D009 

Hard nose 
bar 

--- 445045455 68 191H51-3 952020650 
50cm/20'' D009 --- 445050455 72 191H52-1 952020650 
60cm/24'' D009 --- 445060455 84 191H54-7 952020660 
70cm/28'' D009 --- 445070455 94 191H55-5 952030680 
45cm/18'' D009 Hard nose 

bar r with 
replaceable 

tip 

??? 445045555 68 191H51-3 952020650 
50cm/20'' D009 11 445050652 72 191H52-1 952020650 
60cm/24'' D009 11 445060555 84 191H54-7 952020660 
70cm/28'' D009 11 445070652 94 191H55-5 952030680 

Cordless Chain Saws 

DUC121, DUC122 16cm/ 
6-1/4'' ___ without 

sprocket --- 191G59-1 42 1.3mm/ .050'' 1/4'' 25AP / 466 MC 191G95-7 416311-7 Sprocket 1/4’‘ 221527-9 

DUC204 
DUC254 
DUC254C 

25cm/10'' ___ Carving bar --- 191G61-4 60 1.3mm/ .050'' 1/4'' 25AP / 466 MC 191G96-5 452093-7 Sprocket 1/4’‘ 198259-2 

20cm/8" A041 Sprocket 
nose bar 

7 191G13-5 33 
1.1mm/ .043'' 3/8'' 

LP 
90PX / 

291 CC 
191G99-9 458503-2 Sprocket 

3/8''LP 199063-2 
25cm/10'' A041 7 191G14-3 40 191H00-0 452093-7 

DUC252 
DUC302 
DUC352 
DUC252C 

25cm/10'' ___ Carving bar --- 191G61-4 60 1.3mm/ .050'' 1/4'' 25AP / 466 MC 194G96-5 452093-7 Sprocket 1/4’‘ 221528-7 
25cm/10'' A041 

Sprocket 
nose bar 

7 191G15-1 40 
1.1mm/ .043'' 3/8'' 

LP 90PX / 291 
CC 191H00-0 452093-7 

Sprocket 
3/8''LP 221526-1 

30cm/12'' A041 7 191G16-9 46 CC 191H01-8 419288-5 
35cm/14'' A041 7 191G17-7 52 CC 191H02-6 419288-5 
25cm/10'' A041 

Sprocket 
nose bar 

7 191G23-2 40 
1.3mm/ .050'' 3/8'' 

LP 91PX / 492 CC 
191H08-4 452093-7 

30cm/12'' A041 7 191G24-0 46 191H10-7 419288-5 
35cm/14'' A041 7 191G25-8 52 191H11-5 419288-5 

DUC256 
DUC306 
DUC356 
DUC406 
DUC256C 

25cm/10'' ___ Carving bar --- 191G61-4 60 1.3mm/ .050'' 1/4'' 25AP / 466 MC 191G96-5 452093-7 Sprocket 
1/4’‘ 198259-2 

25cm/10'' A041 

Sprocket 
nose bar 

7 191G14-3 40 

1.1mm/ .043'' 3/8'' 
LP 90PX / 291 CC 

191H00-0 452093-7 

Sprocket 
3/8''LP 199063-2 

30cm/12'' A041 7 191G15-1 46 191H01-8 419288-5 
35cm/14'' A041 7 191G16-9 52 191H02-6 419288-5 
40cm/16'' A041 7 191G17-7 56 191H03-4 419242-9 
25cm/10'' A041 

Sprocket 
nose bar 

7 191G22-4 40 

1.3mm/ .050'' 3/8'' 
LP 91PX / 492 CC 

191H08-4 452093-7 
30cm/12'' A041 7 191G23-2 46 191H10-7 419228-5 
35cm/14'' A041 7 191G24-0 52 191H11-5 419288-5 
40cm/16'' A041 7 191G25-8 56 191H12-3 419242-9 

DUC303, 
DUC353, 
DUC400
DUC305 
DUC355 
DUC405 

25cm/10'' ___ Carving bar --- 191G61-4 60 1.3mm/ .050'' 1/4'' 25AP / 466 MC 191G96-5 452093-7 Sprocket 1/4’‘ 198259-2 

30cm/12'' A041 
Sprocket 
nose bar

7 191G15-1 46 
1.1mm/ .043'' 3/8'' 

LP 90PX / 291 CC 
191H01-8 419288-5 

Sprocket 
3/8''LP 

199063-2 

35cm/14'' A041 7 191G16-9 52 191H02-6 419288-5 
40cm/16'' A041 7 191G17-7 56 191H03-4 419242-9 
30cm/12'' A041 

Sprocket 
nose bar

7 191G23-2 46 
1.3mm/ .050'' 3/8'' 

LP 91PX / 492 CC 
191H10-7 419228-5 

35cm/14'' A041 7 191G24-0 52 191H11-5 419288-5 
40cm/16'' A041 7 191G25-8 56 191H12-3 419242-9 

Electric Chain Saws 

UC3041A, 
UC3541A, 
UC4041A 

30cm/12'' A041
Sprocket 
nose bar 

7 191G15-1 46

1.1mm/ .043'' 3/8'' 
LP 90PX / 291 CC 

191H01-8 419288-5 

Sprocket 
3/8''LP 221526-1 

35cm/14'' A041 7 191G16-9 52 191H02-6 419288-5 

40cm/16'' A041 7 191G17-7 56 191H03-4 419242-9 

30cm/12'' A041 
Sprocket 
nose bar 

7 191G23-2 46 

1.3mm/ .050'' 
3/8'' 
LP 91PX / 492 CC 

191H10-7 419288-5 

35cm/14'' A041 7 191G24-0 52 191H11-5 419288-5 

40cm/16'' A041 7 191G25-8 56 191H12-3 419242-9 

UC3050A, UC3550A, 
UC4050A, UC4550A, 
UC3051A, UC3551A, 
UC4051A, UC4551A 

30cm/12'' A041

Sprocket 
nose bar 

7 191G23-2 46 

1.3mm/ .050'' 3/8'' 
LP 

91PX / 
492 CC 

191H10-7 419288-5 

Sprocket 
3/8''LP 221521-1 

35cm/14'' A041 7 191G24-0 52 191H11-5 419288-5 

40cm/16'' A041 7 191G25-8 56 191H12-3 419242-9 

45cm/18'' A041 7 191G26-6 62 191H13-1 419242-9 

30cm/12'' A041 High 
durability 
sprocket 
nose bar 

9 191G32-1 46 191H10-7 419288-5 

35cm/14'' A041 9 191G33-9 52 191H11-5 419288-5 

40cm/16'' A041 9 191G34-7 56 191H12-3 419242-9 

5012B 30cm/12'' --- 

High 
durability 
sprocket 
nose bar 

9 191G63-0 45 1.3mm/ .050'' 3/8'' 
LP 

91PX / 
492 

CC 191H09-2 410054-3 Sprocket 
3/8''LP 

221514-8 



Tie Strap & Tie Strap with Rivets 

Saw chain type pitch gauge 

Tie Strap 

(1pc) 

Tie Strap with 

Rivets (1pc) 

Part No. Part No. 

25AP 466 1/4’‘ 1.3mm/.050’‘ 558466000 558466010 

90PX 291 3/8’‘LP 1.1mm/.043’‘ 510090030 510090010 

91PX, 91VXL 492, 
196 3/8’‘LP 1.3mm/.050’‘ 558092000 558092010 

95VPX 484 .325’‘ 1.3mm/.050’‘ 510084040 510084020 

20BPX, 20LPX
082, .325’‘ 1.3mm/.050’‘ 558486000 558486010 

21BPX, 21LPX 
086, 686 .325’‘ 1.5mm/.058’‘ 558083000 558083010 

72V, 72DPX, 72LPX 
496, 100, 101 3/8’‘ 1.3mm/.050’‘ 558496000 558496010 

73LPX, 73DPX
093, 099 3/8’‘ 1.5mm/.058’‘ 558093000 558093010 

Bar nut 

* Pole saw attachment (196315-2)

Model No. 
Thread 

size 
Wrench 

size 
Part No. 

EY2650H, EY401MP* M6 10 XTM0000023 

EA3110T 

M8 13 

MR00283041 

EA3200S, EA3202S, EA3500S, EA3502S 264055-1 

EA4300F, EA5001P, EA5000P, EA6100P, 
EA6101P, EA7300P, EA7301P, EA7900P, 
EA7901P 

252145-2 
923208004 

Chain Saw Case (steel) 

Model No. Part No. 
EA3200S, EA3201S, EA3202S, EA3203S, 
EA3500S, EA3501S, EA3502S, EA3503S, 
EA3600F, EA3601F, EA4300F, EA4301F, 
EA5000P, EA5001P, EA5600F, EA6100P, 
EA6101P 

821672-6 
988959634 

Round File, File holder 
For Model: 
Chain saw 
* with handle

Saw chain type Size 
Round file 

File and File 
handle and 
File holder 

Part No. Q'ty Part No. 

25F, 25AP, 91P, 91PX, 91PXL, 
91VXL, M91VXL, 466, 492, 196 

4mm

*744003-1 1 - 

953003090 1 
195089-2 

953030010 
D-67359 2 

D-70948 
D-67365 12 

90PX, 90SG, 291 4.5mm 

953003100 1 
195923-6 

953030020 
D-67371 2 

D-70954 
D-67387 12 

95VPX, 95TXL, 20BPX, 21BPX, 
22BPX, 20LPX, 21LPX, 22LPX, 
082, 086, 686, 484 

4.8mm 

953003070 1 
197712-5 

953030030 
D-67393 2

D-70960 
D-67402 12 

72DPX, 73DPX, 75DPX, 
72LPX, 73LPX, 75LPX 

5.2mm 
D-67418 2 

D-70976 
D-67424 12 

72V, 73V, 75V, 72APX, 72DPX, 
73DPX, 75DPX, 72EXL, 73EXL, 
75EXL, 72EXJ, 73EXJ, 75EXJ, 
72LGX, 73LGX, 75LGX, 72JGX, 
73JGX, 75JGX, 72JPX, 73JPX, 
75JPX, 72LPX, 73LPX, 75LPX, 
72RD, 73RD, 75RD, 496, 093, 
099 

5.5mm

953003040 1 95300000 

D-67430 2 

D-70982 
D-67446 12 

Flat File, Depth gauge 
For all saw chain 

Flat file Depth gauge 
Flat file and File handle and 

Depth gauge 

Part No. Q'ty Part No. Part No. 

953003060 1 953003060 - 

D-67452 1 
D-67452 D-70998 

D-67468 12 

File set for in Roll Up Pouch 
For all saw chain 

Description Part No. 

φ4.0mm Round File(3pcs) / File Holder / Flat File / Handle(2pcs) / 
Depth Gauge 

D-72154 

φ4.5mm Round File(3pcs) / File Holder / Flat File / Handle(2pcs) / 
Depth Gauge 

D-72160 

φ4.8mm Round File(3pcs) / File Holder / Flat File / Handle(2pcs) / 
Depth Gauge 

D-72176 

φ5.2mm Round File(3pcs) / File Holder / Flat File / Handle(2pcs) / 
Depth Gauge 

D-72182

φ5.5mm Round File(3pcs) / File Holder / Flat File / Handle(2pcs) / 
Depth Gauge 

D-72198 

Accessory for File 

Filling vise File handle 

Part No. Q'ty Part No. 

D-67480 

1 953004010

1 D-67496 

50 D-67505 

Chain oil 
item Size Part No. 

Chain oil With Makita chain oil, chain oiling is 
formulated to adhere to the bar and chain 
and to reduce wear. 
Adhesion additive helps keep sap and pitch 
from clinging to the bar and chain. 
(Not available in Austria) 

100ml 182229-1 

1L 
195093-1 

988002656 

5L 988002658 

55L 988002260 

200L 988002261 

BIOTOP Chain oil With BIOTOP, chain oiling is safe for 
environment. BIOTOP is purely vegetable-
based and readily biodegradable. It meets 
the strict requirements of the RAL UZ48 
environment mark for environmental 
compatibility, lubrication, and aging 
resistance. 

1L 980008610 

5L 980008611 

55L 980008217 

200L 980008218 

Pruning extension set 

Model No. Part No. 

DUC122 195595-7 



Hook holder for extension cord 

Type Description Part No. 

A Arm band complete set 194679-8 

B Cord holder complete set 194677-2 

C Hook complete 158024-1 

Shear blade & Blade cover for Grass Shear 

Model No. Cutting 
width 

Blade 
assembly Blade cover Grass 

Receiver 

DUM168, DUM604, 
UM600D, UM603D 

160mm 195267-4 452055-5 457426-1 

DUM111, DUM110 110mm 191N23-4 413885-9 454880-0 

Conversion from Hedge Trimmer to Grass Shear 

Model No. 
Cutting 
width 

Blade assembly 
Blade cover, 

Grass receiver & 
Clank cover set 

Clank cover 

UH201D
160mm 195267-4 198412-0 

452198-3 
110mm 191N23-4 191N25-0 

Shear blade & Blade cover for Hedge Trimmer 

Model No. 
Blade assembly Blade cover 

Blade 
type 

Part No. Part No. 

Cordless Hedge Trimmer 
*for China, Hong Kong, Korea, Malaysia, Philippines, Singapore, Taiwan & Vietnam.
**for Canada & Mexico 

UH201D C 
198409-9 

EU:198408-1 
451816-0 

DUH551 C 196687-5 450489-6 

DUH651 C 196688-3 450490-1 

DUH481, DUH483, UH482D C 195768-2 452684-4 

DUH521, DUH523U, UH520D, UH522D C 195769-0 452685-2 

DUH501 A 199098-3 458413-3 

DUH601 A 199099-1 
458414-1 

*459121-9

DUH751 A 199100-2 
458415-9

*459122-7
DUH604S A 191D38-1 412355-5 

DUH754S A 191D39-9 412356-3 

DUH502 B 199598-3 459120-1 

DUH602 B 199599-1 459121-9 

DUH752 B 199600-2 459122-7 

DUH502 B **199236-7 **459120-1 

DUH602 B **199101-0 **459121-9 

DUH752 B **199102-8 **459122-7 

UH004G A 191R53-9 412911-1 

UH005G A 191R54-7 412912-9 

UH006G A 191R55-5 412911-1 

UH007G A 191R56-3 412912-9 

UH008G B 191R57-1 459121-9 

UH009G B 191R58-9 459122-7 



Model No. 
Blade assembly Blade cover 

Blade 
type 

Part No. Part No. 

Pole Hedge Trimmer (Cordless, Petrol, Multi-tool attachments  
*with Blade guard
**without Blade guard 
DUN500W A 191C14-9 458413-3 

DUN501W B 191E73-5 459120-1 

DUN600L A 191C13-1 458414-1 

DUN601L B 191F60-0 459121-9 

EN420MP B 198195-2 457036-4 
EN401MP, EN410MP, EN4950H, 
EN4951SH 

B 
197763-8 

EU:197768-8 
454279-9 

EN5950S B 
*126280-1 454278-1 

**126281-9 454278-1 

EN7350S B 126285-1 451868-1 

AC Hedge Trimmer 

UH4261 C 140826-9 452683-6 

UH4570 C 194660-9 450489-6 

UH4861 C 140830-8 452684-4 

UH5261 C 140827-7 452685-2 

UH5570 C 194663-3 450489-6 

UH5580 C 194671-4 450489-6 

UH6580 C 194673-0 450490-1 

UH6570 C 194666-7 450490-1 

UH7580 C 194675-6 450490-1 
Petrol Hedge Trimmer 
*for blade without end cover
**for blade with end cover 

EH5000W B 198049-3 
*452328-6
**454279-9 

EH6000W B 196797-8 
*452327-8

** 454278-1 

EH7500W B 196799-4 
*452326-0
**454277-3 

EH6000S B 196803-9 451869-9 
EH7500S B 196801-3 451868-1 

Chip receiver assembly set 
Keeps branch or leaf debris from scattering around. 
• Attachable to either side of the blade

Model No. Description Part No. 
DUH202, *DUM111, *DUM604, UH201D, 
*UM110D, *UM600D, *UM603D 

One-touch installation  / 
removal 198401-5 

DUH551, DUH651, UH4570, UH5570, 
UH5580, UH6570, UH6580, UH7580 

One-touch installation / 
removal 194681-1 

DUH483, DUH523, UH4261, UH4861, 
UH5261 

With binding head screw 
M5X12 x 5pcs 195050-9 

DUH501, DUH502, DUH601, DUH602, 
DUH751, DUH752 

One-touch 
installation/removal 199151-5 

DUH502, DUH602,  DUH752 One-touch 
installation/removal 199152-3** 

DUH604S 191D33-1 

DUH754S 191D34-9 

UH004G, UH006G, UH008G 191R51-3 

UH005G, UH007G, UH009G 191R52-1 

DUN500W, DUN501W DUN600L 191M40-8 

Toothed edge 
designed like saw teeth can catch  
and prevent leaf or twig debris from  
falling over the edge of chip receiver. 

Anti-slide ribs 
on the bottom plate prevents 
leaf or twig debris from  
sliding and slipping out  
of chip receiver. 

Model No. Description Part No. 

EH6000S, EH7500S without blade guard 451866-5 

EH6000S with blade guard 452165-8 

EH7500S, EN7350S with blade guard 452166-6 

EH7500S, EN7350S without blade guard 
With binding head 
screw M5X12 x5pcs 

196777-4 

EH7500S, EN7350S with blade guard 
With binding head 

screw M5 x 12 x 5pcs. 
195321-4 

Conversion from Grass Shear to Hedge Trimmer 

*With clank cover

Model No. 
Blade assembly Blade cover Chip receiver 

Part No. Part No. Part No. 

DUM604, UM600D, 
UM603D 

198408-1 
451816-0 

198401-5 
*195274-7

DUM110, DUM111 191N24-2 
458342-0 

198401-5 
*195274-7 

End cover & Blade cover set 

Model No. Part No. 

EH5000W, EN4950H, EN401MP, EN410MP 196264-3 

EH6000W, EN5950S 196262-7 

EH7500W, EN7350S 196261-9 

Blade guard 

Model No. Part No. 

Petrol Hedge Trimmer 

EH5000W, EH6000W, EH7500W, EN4951S, EN5950S 454672-7 

EH6000S, EH7500S EN7350S 346731-0 

Cordless Hedge Trimmer 

DUH501, DUH502, DUH601, DUH602, DUH751, DUH752 458408-6 

Grass Receiver 

*with grass Shear blade
Model No. Part No. 

DUM604, UM600D, UM603D, *UH201D 457426-1 

Long attachment handle 
(Extension handle kit) 
Photo:198486-1 

*with grass shear blade

Model No. Part No. 
DUM604, *DUH202, UM110D, DUM111, UM600D, UM603D, 
*UH201D

198516-8 
EU:198486-1 

ment handle 
ndle kit)

odel No.
DUM111, UM



Pruning Shear blade 
Shear blade (U) 

Shear blade (L) 
Do not re-use Stop Ring E-4 when reassembling. 
Stop Ring E-4 

*With Stop Ring E-4 (P/N:961011-9)
**Hex socket button head screw M3x6 P/N:266183-8 & Shoulder bolt M8
P/N:251573-8 are also necessary. 

Model No. TYPE
*Shear blade (U) Shear blade (L) 

Part No. Part No. 

DUP361 
DUP362 

Standard 
197748-4 

EU: 197588-0* 
197749-2 

EU: 197367-6 

For hard branch 199168-8 199169-6 

For thin branch 199314-3** 199171-9** 

Branch catcher set 
*with Shear blades for thin branch

Model No. Part No. 

*DUP361, *DUP362 199311-9 

Diamond file for shear blade 

Model No. Part No. 

DUP361, DUP362 794530-8 

Battery powered pruning shear others accessory 

Model No. Item Part No. 

DUP361 
DUP362 

Standard Harness 161377-9 

Narrow Strap Harness for Summer 161603-6 

Holster 161379-5 

Arm Band 166062-9 

Cord Holder 154511-8 

Connection Cord 661445-3 

Wheelbarrow attachment 
Carrier set 

Bucket set 

Model No. TYPE Part No. 

DCU180 

Carrier set (Pipe deck) 
199116-7 

EU:199009-8 

Bucket set 
198494-2 

EU:199008-0 

Auxiliary wheel attachment set 191A01-6 

Rotary lawn mower blade 

Model No. Size(mm) Part No. 

Cordless Lawn Mower 

DLM382 380 191D41-2 
DLM432 430 191D43-8 

DML460, DLM461 ,DLM463, DLM464 460 199367-2 

DLM462, DLM465 460 191D51-9 
DLM530, DLM531, DLM532, DLM533, DLM535, 
DLM536, DLM537, LM001C 

530 191D52-7 

Electric Lawn Mower 
ELM3320 330 YA00000745 
ELM3720 370 YA00000746 
ELM4120 410 YA00000747 
ELM4121 410 YA00000738 
ELM4620 460 YA00000741 
ELM4621 460 YA00000741 

Petrol Lawn Mower 

PLM4120N 410 671001433 

PLM4620N2, PLM4621N2, PLM4622N2, PLM4626N, 
PLM4627N, PLM4628N, PLM4630N2, PLM4631N2, 
PLM4632N 

460 DA00001274 

PLM5130N 510 DA00001276 
PLM5113N2 510 DA00000973 
PLM5600N2 560 DA00001275 

Petrol Mulching Mower 
PLM4817, PLM4818, PLM4819 480 DA00000532 
PLM5120N2, PLM5121N2 510 DA00000944 

Rotary lawn mower swing back blade 

Model No. 
Swing back blade set Replacement blade set 

Size(mm) Part No. Par pkg. Part No. 

DLM462, DLM465 460 191D49-6 4 191D47-0 

DLM530, DLM531, 
DLM532, DLM533, 
DLM535, DLM536 
DLM537, LM001C 

530 191D50-1 4 191D48-8 



Scarifyer drum 
Model No. Part No.

UM3200 
Scarifying 652024718 

Lawn Raking 652024719 

UM3600 

Scarifying 652024746 

Combination 652024750 

Lawn Raking 652024749 

Mulching plug set 
Model No. Part No. 

DLM382 DLM432 191D46-2 

Hose set (Delivery hoses (8m, 27ft) and two way 
adjustable nozzle set) 
For Model: 
EW1050, EW1060 
*Standard equipment

Part No. 

B-10671

Trolley kit 

Model No. Part No. 

EK7300, EK7301 DT2010 

EK8110 DT2020 

EK7650H, EK7651H DT4000 

Vacuum attachment 

Model No. Description Part No. 

DUB363 Vacuum kit set 191E19-1 

BHX2500, BHX2501 Vacuum set 
197234-5 

EU:197235-3 

Pipe, End pipe, Flat nozzle & others accessory 
*Adapter pipe 71 set are also necessary. 
**Adapter pipe 80-72 set are also necessary. 
***Adapter pipe 85-72 set are also necessary. 
****Adapter pipe set MG set are also necessary.

Model No. Items Part No. 

DUB184 Front Nozzle Set 183P96-3 

DUB362 Long Nozzle Set 183R02-0 

DUB363 End Nozzle 72 Set 183R01-2 

DUB363 
Pipe 90-72 Assembly 
Set 

183R06-2 

UB001C 
UB001G 

END NOZZLE 80 SET 191P97-7 

DUB184** 
DUB362 
DUB363 
UB001C*** 
UB001G*** 
UB400MP**** 
UB401MP**** 

Extension Nozzle 197888-8 

Flat nozzle 197889-6 

DUB184** 
DUB362* 
DUB363 
UB001C*** 
UB001G*** 
UB400MP**** 
UB401MP**** 

Gutter nozzle set (2.9m) 

Extension Pipe 72 
(0.9m P/N:459816-4) x3 

Nozzle 
(P/N:162790-4) x1 

Hose Clamp 75-90 
(P/N:281030-2) x2 

Hose Clamp 85-100 
(P/N:281031-0) x1 

191B03-8 

DUB362 Adapter pipe 71 set 191J13-3 

DUB184 
Adapter pipe 

80-72 set
191B21-6 
191L13-5 

UB001C 
UB001G 

Adapter pipe 
85-72 set

191L96-5 

UB400MP 
UB401MP 

Adapter pipe set MG 191C15-7 

UB001C Band Assembly set 191J48-4 

UB001G 
DUB184 
DUB362 

Shoulder belt 166094-6 

y



Pipe 

End nozzle 

Flat nozzle 

Hip belt 

Sternum strap 

Model No. Items Part No. 

EB5300TH, 
EB5300WH, 
EB7660TH, 
EB7660WH 

Long pipe 90 set - 197723-0 

Short pipe 90 set - 196912-4 

End nozzle 90-60 Blowing velocity-oriented 454896-5 

End nozzle 90-62 - 198034-6 

End nozzle 90-68 - 197722-2 

End nozzle 90-70 Blowing volume-oriented 455128-3 

Flat nozzle - 196911-6 

Sternum strap - 
196733-4 
199237-

5(EU) 

EB5300TH, 
EB5300WH 

Hip belt - 
198645-7 
199238-

3(EU) 
EB7660TH, 
EB7660WH 

Hip belt 196956-4 

PM7650H, 
PM7651H 

Nozzle 0.5 
For ULV (Ultra-Low-

Volume) 
326378-6 

Nozzle 0.8 
For ULV (Ultra-Low-

Volume) 
326214-6 

Nozzle 0.7 
For ULV (Ultra-Low-

Volume) 
326212-0 

Bent pipe 630 - 453507-9 

Straight pipe 630 - 453699-4 

Straight pipe 380 - 453700-5 

End pipe 200 - 455631-4 

End pipe 450 - 455632-2 

Flat pipe - 455634-8 

Top adapter - 453986-1 

Deflector set - 198248-7 

O ring set - 197070-9 

Hip belt set - 
197055-5 
199240-

6(EU) 

Sternum strap - 
196733-4 
199237-

5(EU) 

BHX2500, 
BHX2501 

Pipe - 451752-0 

End Pipe 
(Flat nozzle) 

- 451753-8 

Nozzle assembly 
A: Standard equipment 

Model No. Size(mm) Type Part No. 

DUB182 
220 A 132025-7 

430 - 134182-7 

UB100D, UB101D, DUB185, 
DUB186 

220 A 123245-4 

430 - 123246-2 

Nozzle assembly 
A:Standard equipment 

Model No. Color Part No. 

UB100D, UB101D, DUB185, DUB186 Gray 192236-6 

Bending long nozzle set 
* long nozzle

Model No. Part No. 

DUB183 TP00000199 

UB100D, UB101D,  DUB185, DUB186 191G09-6 

Dust Bag 

Model No. Part No. 

UB100D, UB101D, DUB185, DUB186 123241-2 

Flexible hose set 
(Total length: 95cm) 

Model No. Part No. 

DUB185, DUB186, UB100D, UB101D 196643-5 



Sprayer accessories for EF1550RH & EVH2000 
Shape 

Model 
No. 

Features/ 
Recommended use

Part No. 

Wide angle herbicide 
nozzle 

EF1550RH 
EVH2000 

for spraying herbicides; also 
ideal for watering plants 

or spraying soil conditioner 
6908031000 

Herbicide nozzle 
Hard to become mist 

preventing diffusion of 
medicine. 

6958011000 

Y-shaped double 
nozzle 

for general pesticide 
applications using insecticides, 

fungicides, etc. 
6958025000 

Long two head nozzle 
Wide sprayibg with wide angle 

outlet. 
6949001000 

U-shaped double 
nozzle Wide sprayibg with wide angle 

outlet. 
6958018000 

Triple concentric 
nozzle Spraying in the form of circular. 6909500100 

Quadruple concentric 
nozzle Spraying in the form of circular. 6919500000 

Compact nozzle 

EVH2000 

Convenient for spraying in the 
green house by compact 

nozzle. 
6939025000 

Jet nozzle 2 
Diffusion or straight is 

selectable with one tach 
6939024000 

Super jet nozzle 
Diffusion or straight is 

selectable. 
6939028000 

Power washer accessories for DHW080, HW1200, & 
HW1300 

Shape Model No. Part No. 
Trigger gun set 

DHW080 
HW1200 
HW1300 

197842-2 

Variable short gun set 

DHW080 
191M52-1 
(TAIWAN) 

Variable nozzle set DHW080 
HW1200
HW1300 

197822-8 

Variospray lance set DHW080 
HW1200 
HW1300 

197876-5 

Cyclone jet nozzle set DHW080 
HW1200 
HW1300 

197824-4 

Cyclone guard set 
DHW080 
HW1200 
HW1300 

197864-2 

Under body spray lance set DHW080 
HW1200* 
HW1300* 

(*for 110-127V) 

197859-5 

HW1200** 
HW1300** 

(**for 220V-240V) 
198909-9 

Extension pipe set 
(0.9m / 1.3m / 1.7m) DHW080 

HW1200 
HW1300 

197870-7 

Shape Model No. Part No. 
Trigger gun set

DHW080 
HW1200 
HW1300 

197842-2 

Variable short gun set 

DHW080 
191M52-1 
(TAIWAN) 

Rotating brush set DHW080 
HW1200 
HW1300 

197831-7 

Wash brush set DHW080 
HW1200 
HW1300 

197828-6 

Foam nozzle set DHW080 
HW1200 
HW1300 

197886-2 

Pipe cleaning hose 
DHW080 
HW1200 
HW1300 

10m 197837-5 

15m 197840-6 

High pressure extension hose 
DHW080 
HW1200 
HW1300 

5m 197845-6 

8m 197847-2 

10m 197850-3 

Twist prevention joint set DHW080 
HW1200 
HW1300

197867-6 

Self-suction hose set 
DHW080 
HW1200 
HW1300 

197873-1 

Accessory joint set DHW080 
HW1200 
HW1300 

197853-7 

Absorption connector set DHW080 
HW1200 
HW1300 

197881-2 

One touch joint set DHW080 
HW1200 
HW1300 

197883-8 

Cleaner pin set 
DHW080 
HW1200 
HW1300 

197879-9 

Shoulder belt 

DHW080 199486-4 



Gasoline filter, Spark plug & Air cleaner element 
Gasoline filter 
163518-3 
Air cleaner element 
443171-4 
PRE FILTER (Foam) 

Model No. 
Gasoline filter Spark plug Air cleaner element 

Part No. Type Part No. Type Part No. 

BHX2500, BHX2501 163447-0 NGK CMR6A 168401-9 
PRE FILTER (Foam) 443141-3 

AIR FILTER (Non-woven fabric) 443140-5 

EA3110T MR00286749 NGK BPMR8Y 649500-1 MR00285584 

EA3200S, EA3201S, EA3202S, EA3203S, EA3500S, 
EA3501S, EA3502S, EA3503S 

163447-0 NGK CMR6A 168401-9 423414-0 

EA3600F, EA3601F 163518-3 NGK BPMR8Y 649500-1 AIR FILTER (Nylon mesh) 126370-0 

EA4300F, EA4301F 163447-0 NGK CMR7A-5 168599-2 
AIR FILTER (Nylon mesh) 123452-9 

AIR FILTER (Fleece) 123453-7 

EA5000P, EA5001P D010114200 NGK BPMR7A 168648-5 

AIR FILTER (Nylon mesh) 181173090 

AIR FILTER (Fine Nylon mesh) 181173240 

AIR FILTER (Fleece) 181173190 

EA5600F D010114200 NGK BPMR7A 168648-5 AIR FILTER (Paper) 131173010 

EA6100P, EA6101P D010114200 NGK BPMR7A 168648-5 AIR FILTER (Paper) 130173010 

EA7300P, EA7301P, EA7900P, EA7901P D010114200 NGK BPMR7A 168648-5 

AIR FILTER (Nylon mesh) 38173011 

AIR FILTER (Fleece) 38173101 

HD (HEAVY DUTY) FILTER (convert set) 957173400 

AIR-FILTER CARTRIDGE for HD FILTER 38173310 

PRE-FILTER for HD FILTER 38173350 

EB5300TH/WH 163532-9 NGK CMR6H 168652-4 AIR FILTER (Paper) 
198284-3 

EU:198292-4 

EB7650TH/WH 163532-9 NGK CMR6A 168401-9 AIR FILTER (Paper) 412145-6 

EB7660TH/WH 163532-9 NGK CMR6H 168652-4 AIR FILTER (Fleece) 424809-0 

EBH252U, EBH253U, EBH341L/U 163447-0 NGK CMR4A 168534-0 
PRE FILTER (Foam) 443141-3 

AIR FILTER (Non-woven fabric) 443140-5 

EBH340R/U EBH341R 163447-0 NGK CMR6A 168401-9 
PRE FILTER (Foam) 443141-3 

AIR FILTER (Non-woven fabric) 443140-5 

EE2650H, EM2510LH, EM2511LH 
EM2550UH 

163518-3 NGK CMR4A 168534-0 
PRE FILTER (Foam) 443171-4 

AIR FILTER (Non-woven fabric) 443169-1 

EF1550RH 163447-0 NGK CMR4A 168534-0 AIR FILTER (Foam) 443141-3 

EH5000W, EH6000S/W, EH7500S/W 163518-3 NGK CMR6A 168401-9 
PRE FILTER (Foam) 443157-8 

AIR FILTER (Non-woven fabric) 443158-6 

EK6100, EK6101 163499-1 NGK BPMR7A 168648-5 
AIR FILTER (Paper) 424789-0 

AIR FILTER (Nylon mesh) 424790-5 

EK7300, EK7301, EK8100 163499-1 NGK BPMR7A 168648-5 

PRE FILTER (Foam) 424700-2 

AIR FILTER (Paper) 424701-0 

AIR FILTER (Nylon mesh) 424705-2 

EK7650H, EK7651H 163447-0 NGK CMR6H 168652-4 
Air cleaner element set (with 166106-5 DUST BAG, 
195945-6 PRE FILTER SET x5, 442165-6 AIR FILTER) 

195599-9 

EK8110 163499-1 NGK BPMR7A 168648-5 399173010 

EM2500L, EM2500U DA00000119 NGK BPMR7A 168648-5 A00000105 

EM2510LH, EM2511LH 
EM2550UH, ER2550LH 

163447-0 NGK CMR4A 168534-0 
PRE FILTER (Foam) 443141-3 

AIR FILTER (Non-woven fabric) 443140-5 

EM2600L/U, ER2600L DA00000119 NGK BPMR7A 168648-5 A00000423 

EM3400L/U 163447-0 NGK BPMR7A 168648-5 AIR FILTER (Paper) 443194-2 

EM4350LH/RH/UH, EM4351UH 163518-3 NGK CMR6A 168401-9 
PRE FILTER (Foam  443196-8 

AIR FILTER (Paper) 442181-8 

EN4950H, EN4951SH, EN5950S 
EN7350S, ER2650LH, EX2650LH, EY2650H 

163518-3 NGK CMR4A 168534-0 
PRE FILTER (Foam) 443171-4 

AIR FILTER (Non-woven fabric) 443169-1 

EVH2000 163447-0 NGK CMR6A 168401-9 AIR FILTER (Foam) 5923503200 

EW1050H, EW1060H 163447-0 NGK CMR6A 168401-9 
PRE FILTER (Foam) 443141-3 

AIR FILTER (Non-woven fabric) 443140-5 

PE3450H 163447-0 NGK CMR6A 168401-9 
PRE FILTER (Foam) 443171-4 

AIR FILTER (Non-woven fabric) 443169-1 

PM7650H, PM7651H 163532-9 NGK CMR6A 168401-9 AIR FILTER (Paper) 442181-8 

RBC411U, RBC412U 161446-6 
NGK BPMR7A 
/ NGK BPM7A 

168648-5 
/ 168588-7 

PRE FILTER (Foam) Square 443162-5 

AIR FILTER (Foam) Round 443161-7 

RBC413U, RBC414U 163447-0 
NGK BPMR7A 
/ NGK BPM7A 

168648-5 
/ 168588-7 

AIR FILTER (Foam) 443180-3 



Spark plug 

Type 
Wrench 

size (mm) 
Part No. 

NGK CMR4A 16 168534-0 

NGK CMR6A 16 168401-9 

NGK CMR6H 16 168652-4 

NGK CMR7A-5 16 168599-2 

NGK BPMR7A 19 168648-5 

NGK BPM7A 19 168588-7 

NGK BPMR8Y 19 649500-1 

NGK BMR7A 19 168662-1 

4-stroke engine oil
Size Part No. Description 

100ml 197008-4 without master carton 

140ml 
198279-6 

with master carton 
EU:198290-8 

220ml 
195816-7 with master carton 

195532-1 without master carton 

600ml 980308620 

Grease vessel set 

Description Size Part No. 
For Pole hedge trimmer and Multi-tool 
attachments (Cultivator, Power brush and 
Power sweep) (GREASE NO.0) 

80ml 197439-7 

80ml For RUSSIA 191E22-2 

For string trimmer, Brushcutter and Hedge 
trimmer (GREASE NO.2) 

80ml 199450-5 

80ml For RUSSIA 199456-3 

High-performance 2-stroke engine oil 50:1 
*with measuring cup

Size Part No. 

100ml 195957-9 
980008606 

1L 980008607 

1L* 980008612 

5L 980008618 

55L 980008150 

200 980008151 

Fuel mixture 

Size Part No. 

1L 456236-3 

Safety goggles 

Part No. 

192219-6 

195246-2 


